
https://www.pass4itsure.com/300-615.html
2024 Latest pass4itsure 300-615 PDF and VCE dumps Download

 

 

 

300-615Q&As

Troubleshooting Cisco Data Center Infrastructure (DCIT)

Pass Cisco 300-615 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/300-615.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

 

 

300-615 Study Guide | 300-615 Exam Questions | 300-615 Braindumps                                1 / 5

https://www.pass4itsure.com/300-615.html
https://www.pass4itsure.com/300-615.html
https://www.pass4itsure.com/300-615.html


https://www.pass4itsure.com/300-615.html
2024 Latest pass4itsure 300-615 PDF and VCE dumps Download

QUESTION 1

Refer to the exhibit. 

The scheduled Test job fails to be reconfigured with extra configuration on Cisco 9000 Series Switch. Which action
resolves the issue? 

A. Stop the job before reconfiguration. 

B. Create the scheduler configuration again. 

C. Use the edit command to modify the job. 

D. Edit the job using the change command. 

Correct Answer: A 

 

 

QUESTION 2

A customer reports that the Chassis Management Controller fails to receive chassis information from Cisco UCS
Manager. Which set of steps resolves the issue? 

A. 1) Verify that the IOM firmware and Cisco UCS Manager are at different software levels 2) Verify that at least two
physical cables between the IOM and fabric interconnect function properly. 3) Check for runtime link down status 4)
Reseat the affected IOM. 

B. 1) Verify that the IOM firmware and Cisco UCS Manager are at the same software level. 2) Verify that at least one
physical cable between the IOM and fabric interconnect functions properly. 3) Check for runtime link down status 4)
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Reseat the affected IOM. 

C. 1) Verify that the IOM firmware and Cisco UCS Manager are at the same software level. 2) Verify that at least two
physical cables between the IOM and fabric interconnect function properly. 3) Check for runtime link down status. 4)
Reseat the affected IOM. 

D. 1) Verify that the IOM firmware and Cisco UCS Manager are at different software levels. 2) Verify that at least one
physical cable between the IOM and fabric interconnect functions properly. 3) Check for runtime link down status. 4)
Reseat the affected IOM. 

Correct Answer: B 

https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/ts/guide/UCSTroubleshooting/UCSTroubleshooting_chapt
er_01001.html 

 

QUESTION 3

Refer to the exhibit. 

A network engineer is implementing a pair of Cisco Nexus 9000 Series Switches. During the OSPF configuration, the
engineer discovers unstable routing in the network. The investigation shows flapping routes after the new switches were
introduced. Which set of actions resolves the issue? 

A. Configure a new IP address on the Ethernet interface toward the OSPF neighbor. Clear the OSPF process. 
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B. Configure a new IP address on the Ethernet interface toward the OSPF neighbor. Clear the OSPF neighbor. 

C. Configure a new OSPF priority on the Ethernet interface toward the OSPF neighbor. Clear the OSPF neighbor. 

D. Configure a new IP address on the Loopback interface toward the OSPF process. Clear the OSPF process. 

Correct Answer: C 

 

 

QUESTION 4

Refer to the exhibit. 

The EEM script is applied in the default VDC to collect the outputs during high CPU utilization on the Cisco Nexus 7000
Series Switch for all VDCs. Which configuration set must be added to the script to fix the issue? 

A. switch(config-applet)# event snmp 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type exact entry-op ge entry-val 50 poll-interval
1switch(config-applet)# action 0.2 cli enableswitch(config-applet)# action 0.5 cli switchto vdc Coreswitch(config-applet)#
action 0.8 cli switchto vdc Distribution 

B. switch(config-applet)# event snmp 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type exact entry-op ge entry-val 50 poll-interval
1switch(config-applet)# action 0.2 cli config tswitch(config-applet)# action 0.5 cli switchto vdc Coreswitch(config-applet)#
action 0.8 cli switchto vdc Distribution 

C. switch(config-applet)# event snmp oid 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type exact entry-op ge entry-val 50 poll-
interval 1switch(config-applet)# action 0.2 cli config tswitch(config-applet)# action 0.5 cli switchto vdc Coreswitch(config-
applet)# action 0.8 cli switchto vdc Distribution 

D. switch(config-applet)# event snmp oid 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type exact entry-op ge entry-val 50 poll-
interval 1switch(config-applet)# action 0.2 cli enableswitch(config-applet)# action 0.5 cli switchto vdc Coreswitch(config-
applet)# action 0.8 cli switchto vdc Distribution 

Correct Answer: D 

Need exact snap shot to confirm the following. 

The selection of is due to SNMP command has the key word "oid". 

The command "switchto vdc Core" show run in "enable" mode, not "config t" mode. 

Reference: https://community.cisco.com/t5/networking-documents/eem-script-on-nexus-7000-switches-to-monitor-cpu-
utilization/ta-p/3120112 
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QUESTION 5

You need to verify that the leafs and the leaf ports are programmed correctly. Which command should you run? 

A. show vlan brief 

B. show vlan extended 

C. show hsrp brief 

D. show port-channel summary 

Correct Answer: D 
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